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BACHELOR’S DEGREE PROGRAMME 

(BDP) 

Term-End Examination 

June, 2021 

(ELECTIVE COURSE : COMMERCE) 

ECO-14 : ACCOUNTANCY–II 

Time : 2 Hours     Maximum Marks : 50 

Note : Attempt any four questions including 

Question No. 1 which is compulsory.  

1.  Attempt any two of the following questions :  

7 each 

(a) How will you record ‘Normal Loss’ and 

‘Abnormal Loss’ under stock and debtor 

method ? 
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(b) Differentiate between shares and 

debentures.  

(c) How are inter-departmental transfer of 

goods treated in departmental accounts ? 

(d) What are the main provisions of 

Companies Act regarding issue of shares at 

a discount ? 

2. Rehan Ltd. invited applications for 40000 

shares for ` 20 each payable ` 4 on application, 

` 6 on allotment, ` 6 on 1st call and ` 4 on 2nd 

and final call. Applications were received for 

60000 shares and allotment was made pro-rata 

to the applicants of 48000 shares. Money 

overpaid on application was utilized towards 

money due on allotment. Mohan to whom 800 

shares had been allotted, failed to pay the 

allotment money. On his subsequent failure to 

pay the 1st call, his shares were forfeited. 

Sohan, a holder of 600 shares, failed to pay the 
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two calls, his shares were also forfeited after 

2nd call. Of the shares forfeited, 1000 shares 

were reissued for ` 18 as fully paid, the whole of 

Mohan’s shares being included therein. Pass 

journal entries in the books of the company. 12 

3. “Return on investment is considered to be the 

master ratio which reflects the overall 

performance of the firm.” Elucidate. 12 

4. A head office of a company fixes selling price for 

its goods at 200% of cost. Goods are sent to 

branch at 25% less than the selling price and to 

other dealer at 20% less than the selling price. 

Calculate the profit at the head office and at 

branch separately from the following 

information : 12 

 Head 

Office (`) 

Branch  

(`) 

Opening Stock  36,000 7,200 

Purchases 2,40,000 — 
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Goods sent to branch  67,500 — 

Goods sent to other 

dealers  72,000 — 

Sales to customers  1,80,000 92,000 

Expenses 40,000 4,000 

5. Modern Ltd. sells goods on hire purchase 

system at cost plus 25%. From the following 

particulars, prepare Hire Purchase Trading 

Account :  12 

 ` 

1st April, 2016 stock out on hire 

purchase (at hire purchase price) 40,000 

31st March, 2017 stock out on hire 

purchase (at hire purchase price) 70,000 

Following transactions took place during the 

year : 

(i) Goods sold on hire purchase  

(at hire purchase price) ` 2,60,000 
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(ii) Cash received from customers ` 2,20,000 

(iii) Goods received back on default  

(instalments due ` 6,000) valued at ` 1,800 

6. Write short notes on any two of the following : 

6 each 

(a) Redemption of Preference Shares  

(b) Profit and Loss Appropriation Account 

(c) Cash Flow Statement   
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Lukrd mikf/ dk;ZØe  

(ch-Mh-ih-) 

l=kkar ijh{kk 

twu] 2021 

(,sfPNd ikB~;Øe % okf.kT;) 

ECO-14 % ys[kkfof/&II 

le; % 2 ?k.Vs     vf/dre vad % 50 

uksV % fdUgha pkj iz'uksa ds mÙkj fyf[k, ftuesa iz'u 

la[;k 1 'kkfey gks tksfd vfuok;Z gSA 

1- fuEufyf[kr esa ls fdUgha nks iz'uksa ds mÙkj nhft, % 

      izR;sd 7 

(d)  LVkWd ,oa nsunkj iz.kkyh ds varxZr vki 

^lkekU; gkfu* rFkk ^vlkekU; gkfu* dk ys[kk 

dSls djsaxs \ 
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([k)  'ks;jksa ,oa Í.ki=kksa esa varj dk mYys[k 

dhft,A 

(x)  foHkkxh; ys[kk ds varxZr oLrqvksa ds 

varfoZHkkxh; gLrkarj.k dk ys[kkadu fdl izdkj 

fd;k tkrk gS \ 

(?k)  'ks;jksa dk NwV ij fuxZeu ds laca/ esa daiuh 

vf/fu;e ds D;k izko/ku gSa\ 

2- jsgu fy- us ` 20 izfr 'ks;j okys 40000 'ks;jksa ds 

fy, izkFkZuk&i=k vkeaf=kr fd,A buds fy, ` 4 izfr 

'ks;j izkFkZuk&i=k ds lkFk] ` 6 izfr 'ks;j vkcaVu ij] 

` 6 izfr 'ks;j izFke ek¡x rFkk ` 4 izfr 'ks;j f}rh; 

,oa vafre ek¡x ij ns; FkkA 60000 'ks;jksa ds fy, 

vkosnu i=k izkIr gq,A 48000 'ks;jksa ds vkosndksa dks 

 [ 8 ] ECO-14 

   

;Fkkuqikr (pro-rata) vkcaVu fd;k x;kA izkFkZuk&i=k 

ij izkIr gqbZ vf/d jkf'k dks vkcaVu ij ns; jkf'k ds 

fy, lek;ksftr dj fn;kA eksgu] ftls 800 'ks;j 

vkcafVr gq, Fks] vkcaVu ij ns; 'ks"k jkf'k dk Hkqxrku 

ugha dj ldkA mlds  }kjk izFke ek¡x ij ns; 'ks"k 

jkf'k dk Hkqxrku Hkh ugha fd;k x;kA vr% mlds 

'ks;jksa dks tCr dj fy;k x;kA lksgu] ftls 600 'ks;j 

vkcafVr fd, x, Fks] 'ks"k nks ek¡xksa ij ns; jkf'k dk 

Hkqxrku ugha dj ik;kA vr% nwljh ekax ds ckn mlds 

'ks;jksa dks Hkh tCr dj fy;k x;kA tCr fd, x, 

'ks;jksa esa ls 1000 'ks;j ` 18 izfr 'ks;j ds fglkc ls 
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iqufuZxZfer dj fn;s x;s ftlesa eksgu ds lkjs 'ks;j 

'kkfey FksA daiuh dh iqLrdksa eas vko';d tuZy 

izfof"V;k¡ dhft,A  12 

3- ¶fuos'k ij izfrykHk dks ekud vuqikr (master 

ratio) ekuk tkrk gS tks iQeZ ds lexz fu"iknu dks 

izfrfcafcr djrk gSA¸ fo'knhÑr dhft,A  12 

4- ,d daiuh dk eq[; dk;kZy; ykxr ds 200% ij  

blds eky dk foØ; ewY; fuf'pr djrk gSA ;g 

eky 'kk[kk dks foØ; ewY; ls 25% de ij Hkstk 

tkrk gS rFkk vU; O;kikfj;ksa dks foØ; ewY; ls 20% 

de ij fn;k tkrk gSA fuEufyf[kr lwpuk (vk¡dM+ksa) 
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ds vk/kj ij eq[; dk;kZy; ,oa 'kk[kk ds ykHkksa dh 

vyx&vyx x.kuk dhft, % 12 

 eq[; 

dk;kZy; 

(`) 

'kk[kk  

(`) 

vkjfEHkd LVkWd 36,000 7,200 

Ø; 2,40,000 — 

'kk[kk dks Hkstk x;k eky 67,500 — 

vU; O;kikfj;ksa dks Hkstk 

x;k eky 72,000 — 

xzkgdksa dks foØ; 1,80,000 92,000 

O;; 40,000 4,000 
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5- eksgu fy- ykxr eas 25% tksM+dj voØ; 

iz.kkyh ds varxZr eky dk foØ; djrh gSA 

fuEufyf[kr fooj.k ds vk/kj ij ^voØ; O;kikj 

[kkrk* rS;kj dhft, % 12 

 ` 

1 vizSy] 2016 dks voØ; LVkWd 

(voØ; ewY; ij) 
40,000 

31 ekpZ] 2017 dks voØ; LVkd 

(voØ; ewY; ij) 
70,000 

o"kZ ds nkSjku fuEufyf[kr ysu&nsu gq, % 

(i) voØ; ij cspk x;k eky   

(voØ; ewY; ij) ` 2,60,000 
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(ii) xzkgdksa ls izkIr jkf'k ` 2,20,000 

(iii) pwd (default) ij okil fy;k x;k  

eky (fd'rksa dh cdk;k jkf'k ` 6,000) 

ewY;kafdr jkf'k  ` 1,800 

6- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   izR;sd 6 

(d)  iwokZf/dkj 'ks;jksa dk 'kks/u 

([k)  ykHk&gkfu fofu;kstu [kkrk 

(x)  jksdM+ izokg fooj.k  
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